Total No. of Printed Pages—4
S SEM TDC BOTG 1

2013

( November )

BOTANY
( General )
Course : 501

( Cytogenetics, Evolution and Biostatistics )

Full Marks : 48 |
Pass Marks: 19 .

Time : 2 hours

The figures in the margin indicate full marks
for the questions

1. (a) % a0 fomr - 1x3=3
Write the correct answer :
) TR ER-AE | EEEE
(FRIKFTS AT |

Mitochondria is present in
protoplasm / nucleus / plasma-*"’

membrane.
(i) CFRRIT A4 IFTRFAS Somm 2's i
IF Aol / FRCRRCG [ G’ @f |

Chemical composition of cell
membrane is mainly lipid and
protein / carbohydrate / amino acid.
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(2)

(i) TEAR A 2
3:1 [ 15:1/ 9:33:1
The ratio of dihybrid cross is
b 3:1/15:1 / 9:3:3:1
(b) WA 3 ARA FA 1x2=2
Fill in the blanks :
() &9 ISR CesifRgeq TRmhl ——
o0 |

The mutation theory of evolution
was proposed by :

2
(ii) lex;;a 7 RS |

I(x — %>
I

2. 54 @R T - 3+3+2+2=10
Write short notes on :
(a) feE
Allele
(b) Raws
Ribosome
(c) =TI
Median
(d) cTIe
Lamarck

3. were faiRee B Sces= 241 ([’ e siRol) -

is the formula of —.

3x4=12
Discuss briefly the following (any four) :

(a) A
Plastid
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(3)

(b) R

Nucleus

(c) RISl
Polyploidy

(d) Tfew sEdd
Plant tissue culture

(e) i i<
Somatic hybridisation

() &= agfeRmm = -

Concept of genetic engineering

4. vizeel e B @2 gl s T e
THIZIPR 361 T4 1 FI0O, FEwel Wie o RiAwm

T AMEPER a1 41 2+3+3+3=11

What is linkage? Describe with examples
incomplete and complete linkage. Also,
mention the differences between linkage and
Crossing-over.

g5/ Or

S T SfRe 7 (STASA I ACERD! IR
qefI1 941 | 3+8=11

Who was Mendel? Explain in detail his laws
of inheritance.
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5. (a) FARRTME R PRI SN5_CERT TSR @i 5y

(b)

el foam | . 5

Give a brief account of the theory of
organic evolution proposed by Lamarck.

941/ Or .
59 (oIl et 216x2=5
Write short notes on :
() SRE SRy TSR
Theories of origin of life
(i) “ERIFR Sy g@e
Modern concept of evolution

G- Rem &2 Salwre W[ ov93
e 3 w11 2+3=5

What is biostatistics? Discuss its
importance in biological science.

Y€1/ Or
CoTeT o - 215x2=5

Write notes on :
(i) ISl AT

Test of significance
(i) =5 Rpfs

Mean deviation

L]
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